
1

Jede woche

Varje vecka
Every week

Chaque semaine

Chaque saison
Jedes Jahr
Every season
Varje säsong

 

 3,5m 

 0
,4

2m
 

 +
2,

2m
 

8002645

8001184

8002642

8002643

8009458

8002641

8013165

8002640

8067704

 R1,50m 
 1

m
 

 R
1,5

0m
 

 7,20m 

 3
,5

0m
 

 1
,8

4m
 

 2m 

>CPSC

144

>EN 1176

TYPE 1

FH=1,00m
3h

Type Hags.no

8002645

8001184

8002642

8002643

8009458

8002641

8013165

8002640

8067704

LI JW 2024-01-11 3

132 215
 1 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Big Maggot
HAGS



1 2

4

5
6

7

3

4

5

1
2

Item Qty Description Doc. ID

7 2 Screw, ISO8677-M10x40-
8.8 8039293

6 2 Distance for cover cap 
M10 43-04821

5 2 Cover cap M10 43-04818

4 4 Lid for Cover hat M10 43-04820

3 2 Screw, ISO8677-M10x35-
8.8 8039292

2 4 Nut, Fujilok-M10-8-RingA2 8008796

1 4 Washer, Bolt cap 11x24x2-
ISO4759-3-C 8008850

LI JW 2024-01-11 3

132 215
 2 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Big Maggot
HAGS



3

2

4

1

2

567

9

8

6

Item Qty Description Doc. ID

9 2 Lid for cover cap M8 43-04816

8 2 Nut, Fujilok-M8-8-RingA2 8008795

7 2 Screw, ISO4017-M8x35-8.8 8008348

6 4 Washer, Bolt cap 9x18x2-
ISO4759-3-C 8008849

5 2 Cover cap M8 43-04813

4 2 Screw, ISO4017-M10x30-
8.8 8008373

3 2 Screw, ISO4017-M10x100-
8.8 8008399

2 4 Nut, Fujilok-M10-8-RingA2 8008796

1 2 Washer, Bolt cap 11x24x2-
ISO4759-3-C 8008850

LI JW 2024-01-11 3

132 215
 3 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Big Maggot
HAGS



3
1

2

5

1

6

2

4

1

1

2

Item Qty Description Doc. ID

6 2 Screw, ISO8677-M10x50-
8.8 8039294

5 2 Clamp M10x38mm 8005986

4 2 Screw, ISO4017-M10x25-
8.8 8008371

3 2 M10, 38mm Loop 8005984

2 8 Nut, Fujilok-M10-8-RingA2 8008796

1 10 Washer, Bolt cap 11x24x2-
ISO4759-3-C 8008850

LI JW 2024-01-11 3

132 215
 4 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Big Maggot
HAGS



6

1
2

3
4 5

1
73

4

Item Qty Description Doc. ID

7 2 Screw, ISO4017-M8x25-8.8 8008344

6 2 Screw, ISO8677-M8x50-8.8 8039282

5 2 Distansbricka t Täckhatt 8 43-04817
4 4 Cover cap M8 43-04813

3 8 Washer, Bolt cap 9x18x2-
ISO4759-3-C 8008849

2 2 Nut, Fujilok-M8-8-RingA2 8008795

1 4 Lid for cover cap M8 43-04816
LI JW 2024-01-11 3

132 215
 5 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Big Maggot
HAGS


	Sheet1
	Drawing View1
	Drawing View3
	Drawing View10
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View20
	Drawing View21
	Drawing View22

	Sheet2
	Drawing View23
	Detail View A (1 : 10)
	Detail View B (1 : 10)

	Sheet3
	Drawing View31
	Detail View F (1 : 10)
	Detail View D (1 : 10)
	Detail View G (1 : 10)

	Sheet4
	Drawing View35
	Detail View C (1 : 4)
	Detail View H (1 : 4)
	Detail View I (1 : 4)

	Sheet5
	Drawing View40
	Detail View J (1 : 5)
	Detail View K (1 : 4)


